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5. 88 ®

®The package, having wrong addressed, reached him late and damaged.

having wrong addressed-> having been wrong addressed or wrong addressed
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6.

BEHO

@Sleeping has long been tied to improve memory among humans.

-> tie to improving@ £ 11X 0F HHESICL

@Last night, she nearly escaped from running over by car.

-> being run over by car2 HIF0O{OF X ATSICL.

@The failure is reminiscent of the problems surrounded the causes of the fatal space
shuttle disaster.

-> surrounded by the causes of the fatal.....2 byE FII& O Z A USH0F HHES|C.
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ol o] g8l Reason2 At2= YAl 017|= Z0[ OfLEt A= O|B(AE 0O|3h2
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(sometimes is necessary even for physical survival.)
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